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WEST BENGAL STATE UNIVERSITY

B.A. Honours/Programme 1st Semester Examination, 2022-23
PHIHGECO01T/PHIGCOR01T-PHILOSOPHY (GE1/DSC1)

LogGIc

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate JSull marks. NS AT TGZ KNG 270 faigr=t e
Candidates should answer in their own words RIS fAerd OIF I TE7 SIS Tl

and adhere to the word limit as practicable. GeT P!
All symbols are of usual significance.

Question No. 1 and 2 compulsorily and any fwo from the rest

STR I 3R &P TRPT AR TEHE et (AT A-(HICH 716 etid Ted WS

1. Answer any fen questions from the following:

=feiRe @-@ien wiff aeis Teg wies

(a) What is meant by proposition?
o FEIC0 I @RI 2
(b) On the basis of quantity, how many types of categorical propositions are there and
what are they?
AR S R T so e e [T/ 9
(c) What is quality of proposition?
OCAT @9 FICP ¢ 9
(d) Transform into logical form:

IERere e aoiefie Tl

Very few politicians are honest.
Y I FEAIfofw 2 Je|
(¢) Determine the truth value of (~p > q)v p when p is true.
p 9] & (~ p D q) v p ~47 Aepsfer (4 e
(f) Determine which term of the following proposition is distributed:
e <oala @i = sy o fdfy e
Only Children are applicants.
IeTE Pea IR

(8) I proposition distributes none of its subject term or its predicate term — Mention
whether it is true or false.

[ 9551 ©f Sr] @ Reerw (P #WCeE 01o0) e A1 — STy 1 L Sewe e
(h) Mention the propositions that are opposed to the following proposition:

e oAb R wsraf e e

Honest men are generally happy.

IR @I A JA =30

2x10=20
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(i) What is material obversion?
Igere RIS I I 9
(j) What is the difference between opposite te
fReifre = e fem st Wy Ay 2
(k) Fill in the blanks:
The subject term of the conversant will be the
A SR Feie
RS Srjoin SRR ToT __
() What is meant by Mood of a Syllogism?
TR AT IS w700 F @RI 9
(m) What is rule of validity of conversion?
SIRSCR (Kl TRFre s o

(n) Represent the statement ‘Ghost Exists’ by Venn Diagram.
GO TR — IS coabeg Tl Il

(0) When an implicative sentence becomes false?
a3 AP A P iy =7 2

(p) Ifpistrue and q is false, then what will be the truth value of ‘p =~q’?
p 9] @R q WY TE p = ~ ¢ -7 Aoy I TR ?

(@) Show the symbolized form of Mill’s method of agreement.
TR rmfl ~iafen Aksos wierS @l

(r) Use truth-table to define the disjunction ‘v ’.
TP R CIFTEF ¢ v *-q9 IR WS

(s) What is the denial of a tautological statement?
GF6 FO3TG) IGACH [WCaY T B o4 ~H1e A ?

(t) Give the definition of Mill’s method of agreement and difference.
Tt ot IfoEd! ~rafoa ket vie |

i ?
rm and contradictory term:

of converse.

Write short notes on any #wo of the following:

5%x2 =10
e Q- 167 ev@ kg Bt e

(a) Is conversion by limitation of A proposition valid? Give arguments in favour of
your answer.

A 0T SifSre S & 34 2 Terw 0w e wie)
(b) Rules of obversion '

Resa s

(¢) What is the relation between truth and validity?
PO @ (IASIA L] I7™F ] 2

(d) Opposition of Proposition
e Reafaen

Test the validity of the following categorical syllogism or svlioei tic fi 5x2=10
(any two): [Do not use Venn Diagram] . YTQRISHC! tomms

Frfere faeers wuim a1 TaeRr et Rog e (@-
s P (- 7f5) [conEe g
(a) EAE -2
(b) OAO -1
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© ;‘;{L;;ightters are not gold, this tinsel glitters; therefore this tinsel is not gold.
@ AAA_;-@EEWW’ @2 4IgA el 550 ; oAk |fb G !
4. Use truth-table to determine whether the following statement forms are 5X2= o
tautologous, self-contradictory or contingent: (any #wo)
el TRk T, ge:fay 71 wiefes o FoFan AR fAfar Pl
(A-GFIEAI %15)
@ (P>)>@Qv~p)
® p-9P>(=q)
© - (PvDI=E[pve: (V)
(@ Pe>p)>~p
5 Test the validity of the following with the help of truth-table: (any two) 5x2=10
STePARAE AR 3! Fefa Il (-Gl 7o)
(@ p>oq
#~q>D~p
(b) ADB
Bo~A
~~Bv~A
© p=@ Vv r
el o
~~(P=9
(d pv~a
p
~p>q

6. Explain critically Mill’s method of difference. 10

e wfoEd) “afs ARGR 1T Tl

X
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